### **RESOLUTION No. 19-58**

A RESOLUTION OF THE MAYOR AND THE CITY COUNCIL OF THE CITY OF DORAL, FLORIDA, PURSUANT TO SECTION 2-322 OF THE CITY CODE OF ORDINANCES, APPROVING THE PURCHASE OF CISCO NETWORK EQUIPMENT FOR DORAL GLADES PARK FROM IT SAVVY LLC, VIA CISCO GSA CONTRACT NO. GS-35F-0563UVIA, IN AN AMOUNT NOT TO EXCEED \$58,316.81; AUTHORIZING THE CITY MANAGER TO EXECUTE CONTRACTUAL DOCUMENTS AND EXPEND BUDGETED FUNDS IN FURTHERANCE HEREOF; PROVIDING FOR IMPLEMENTATION; AND PROVIDING FOR AN EFFECTIVE DATE

WHEREAS, the Doral Glades Park is a new City facility that provides a solution for training, special events, classrooms, and exhibit room; and

**WHEREAS**, this expansion of the citywide network infrastructure is based on Cisco network equipment. Cisco is a global reputable manufacturer who dedicates itself in selling network equipment, support, and maintenance through competitive resellers; and

**WHEREAS**, section 2-322 of the City Code of Ordinances provides that the City may enter into contracts competitively entered into by other governmental entities; and

WHEREAS, The Information Technology Department sought to acquire the best feasible competitive quotes for the purchase of two (2) Cisco Catalyst 3850 network switches and seventeen (17) Cisco Meraki wireless access points as mentioned above. The best offer came from IT Savvy LLC., for \$58,316.81 which is based on Cisco GSA: GS-35F-0563U; and

WHEREAS, These contracts were competitively entered into in a manner like that set forth in Chapter 2, Article V, of the City Code, provides that the City may enter into contracts competitively entered into by other governmental entities; and vendor participating in State of Florida Contract. Attached please find "Exhibit A" which includes

four (4) quotes from PC Solutions & Integration, Inc., ITsavvy, UDT, and CDW, and a copy of the Cisco GSA: GS-35F-0563U and Cisco State of Florida Contract #4322000-WSCA-14ACS; and

WHEREAS, The Information Technology Department request that the Mayor and City Council members approve purchase of two (2) Cisco Catalyst 3850 network switches and seventeen (17) Cisco Meraki wireless access points to expand our current Cisco network infrastructure to the new Doral Glades Park facility. Funds have been allocated in Account#: 102.22005.500652

NOW, THEREFORE, BE IT RESOLVED BY THE MAYOR AND CITY COUNCIL OF THE CITY OF DORAL, FLORIDA, AS FOLLOWS:

<u>Section 1.</u> Recitals. The above recitals are confirmed, adopted, and incorporated herein and made a part hereof by this reference.

Section 2. Approval. Pursuant to section 2-322 of the City Code of Ordinances, the procurement of the Cisco Network Equipment from IT Savvy LLC. via Cisco GSA: GS-35F-0563U in accordance with its quote in Exhibit "A", in an amount not to exceed \$58,316.81, is hereby approved.

<u>Section 3.</u> <u>Authorization.</u> The City Manager is hereby authorized to enter into an agreement and other contractual documents, subject to approval as to form and legal sufficiency by the City Attorney, as may be necessary to procure the Cisco Network Equipment, and to expend funds in furtherance hereof.

**Section 4. Implementation.** The City Manager and City Attorney are hereby authorized to take such further action as may be necessary to implement the purpose and provisions of this Resolution.

Section 5. Effective Date. This Resolution shall take effect immediately upon adoption.

The foregoing Resolution was offered by Vice Mayor Mariaca who moved its adoption.

The motion was seconded by Councilmember Cabral and upon being put to a vote, the vote was as follows:

Mayor Juan Carlos Bermudez	Yes
Vice Mayor Claudia Mariaca	Yes
Councilwoman Digna Cabral	Yes

Councilman Pete Cabrera Absent/Excused

Councilwoman Christi Fraga Yes

PASSED AND ADOPTED this 13 day of March, 2019.

JUAN CARLOS BERMUDEZ, MAYOR

ATTEST:

CONNIE DIAZ, MMC

CITY CLERK

APPROVED AS TO FORM AND LEGAL SUFFICIENCY FOR THE USE AND RELIANCE OF THE CITY OF DORAL ONLY:

LUIS FIGUEREDO, ESQ.

CITY ATTORNEY

# **EXHIBIT "A"**



ITsavvy LLC 2000 NW 87th Avenue, Suite 216 Miami, FL 33172 www.lTsavvy.com

Quote Details				
Quote #: 3203204				
Date:	02/25/2019			
Payment Method: Net 30 Days				
Client PO#:				
Cost Center:				
Shipping Method:	Ground			

Bill To: ACCT #: 598866 City Of Doral 8401 NW 53rd Terrace Doral, FL 33166 United States Ship To: City of Doral Hector Aguila 8401 Nw 53rd Ter Doral, FL 33166-4517 United States 305-593-6725 x 1706

Client Contact: Hector Aguila (P) 305-593-6725 x 1706 hector.aguila@cityofdoral.com Client Executive: Rudy Braga (P) 786-204-3609 (F) 630.396.6322 rbraga@ITsavvy.com

Description: Cisco Catalyst 3850 Swithces w/Meraki Cloud Solution (New Site) w/GSA w/8x5xNBD SmartNet

	Item Description	Part #	Qty	Unit Price	Tota
	Cisco Catalyst C3850-12X48U-E Switch				
1	Cisco Catalyst 3850-12X48U-E Switch - L3 - managed - 48 x 10/100/1000 (UPOE) - desktop, rack-mountable - UPOE (630 W) Manufacturer Part #: WS-C3850-12X48U-E	16520086	1	\$10,413.99	\$10,413.99
2	Cisco SMARTnet Extended service agreement - replacement - 8x5 - response time: NBD - for P/N: WS-C3850 -12X48U-E, WS-C385012X48UE-RF, WS-C385012X48UE-WS Manufacturer Part #: CON-SNT-WSC385UE	16554361	3	\$1,619.41	\$4,858.2
3	Cisco Config 1 Secondary Power Supply Power supply - hot-plug / redundant (plug-in module) - AC 115-240 V - 1100 Watt - for Catalyst 3850-24, 3850-48 Manufacturer Part #: PWR-C1-1100WAC/2	13814444	1	\$801.56	\$801.5
4	UNIVERSAL UNIVERSAL Manufacturer Part #: S3850UK9-166	20762343	1	\$0.00	\$.00
5	Cisco Network Module Blank Blank panel - for Catalyst 3850-24, 3850-48 Manufacturer Part #: C3850-NM-BLANK	16674147	1	\$0.00	\$.00
6	Cisco Power supply - hot-plug / redundant (plug-in module) - AC 115-240 V - 1100 Watt - for Catalyst 3850-48F-E, 3850-48F-L, 3850-48F-S Manufacturer Part #: PWR-C1-1100WAC	20138722	1	\$0.01	\$.0
7	Cisco StackPower Power cable - 1 ft - for Catalyst 3750X-12, 3750X-24, 3750X-48 Manufacturer Part #: CAB-SPWR-30CM	16152102	1	\$40.08	\$40.08
8	Cisco StackWise 480 Stacking cable - 1.6 ft - for Catalyst 3850-24, 3850-48 Manufacturer Part #: STACK-T1-50CM	14835306	1	\$42.19	\$42.19
9	Cisco Power cable - IEC 60320 C15 to NEMA 5-15 (M) - AC 110 V - 8 ft - North America - for Catalyst 3850-24, 3850-48, 9200 Manufacturer Part #: CAB-TA-NA	13818690	2	\$0.00	\$.00
10	<b>Cisco</b> Expansion module - 10 GigE - 2 ports + 4 x shared SFP - for Catalyst 3850-12, 3850-12X48, 3850-24, 3850-48 Manufacturer Part #: C3850-NM-2-10G=	13815079	1	\$1,097.92	\$1,097.92
11	Cisco SFP+ transceiver module - 10 GigE - 10GBase-SR - LC/PC multi-mode - up to 984 ft - 850 nm - for Catalyst Switch Module 3012, Switch Module 3110; Nexus 5010, 93180, 9336, 9372 Manufacturer Part #: SFP-10G-SR=	13808278	2	\$414.58	\$829.16
	Cisco Catal	yst C3850-12	X48U-E S	witch Subtotal	\$18,083.14
	Cisco Catalyst 3850-24S-E Switch				
12	Cisco Catalyst 3850-24S-E Switch - L3 - managed - 24 x Gigabit SFP - desktop, rack-mountable Manufacturer Part #: WS-C3850-24S-E	16110430	1	\$10,622.81	\$10,622.81
13	Cisco SMARTnet Extended service agreement - replacement - 8x5 - response time: NBD - for P/N: WS-C3850	16120656	3	\$1,181.25	\$3,543.75

	-24S-E, WS-C3850-24S-E-RF, WS-C3850-24S-E-WS Manufacturer Part #: CON-SNT-WSC3852E				
14	Cisco Config 1 Secondary Power Supply Power supply - hot-plug / redundant (plug-in module) - AC 100-240 V - 350 Watt - for Catalyst 3850-12, 3850-16, 3850-24, 3850-48 Manufacturer Part #: PWR-C1-350WAC/2	14729009	1	\$274.48	\$274.48
15	UNIVERSAL UNIVERSAL Manufacturer Part #: S3850UK9-166	20762343	1	\$0.00	\$.00
16	350W AC Config 1 Spare PS Cisco Catalyst 3850 350W AC Config 1 Power Supply,config Manufacturer Part #: PWR-C1-350WAC	21699161	1	\$0.00	\$.00
17	Cisco Network Module Blank Blank panel - for Catalyst 3850-24, 3850-48 Manufacturer Part #: C3850-NM-BLANK	16674147	1	\$0.00	\$.00
18	<b>Cisco</b> Power cable - IEC 60320 C15 to NEMA 5-15 (M) - AC 110 V - 8 ft - North America - for Catalyst 3850-24, 3850-48, 9200  Manufacturer Part #: CAB-TA-NA	13818690	2	\$0.00	\$.00
19	Cisco StackWise 480 Stacking cable - 1.6 ft - for Catalyst 3850-24, 3850-48 Manufacturer Part #: STACK-T1-50CM	14835306	1	\$42.19	\$42.19
20	Cisco StackPower Power cable - 1 ft - for Catalyst 3750X-12, 3750X-24, 3750X-48 Manufacturer Part #: CAB-SPWR-30CM	16152102	1	\$40.08	\$40.08
21	Cisco SFP (mini-GBIC) transceiver module - GigE - 1000Base-SX - LC/PC multi-mode - up to 0.6 miles - 850 nm - for Cisco 38XX; Catalyst 29XX, 3560, 3750; Catalyst Express 500; Supervisor Engine II-Plus-TS Manufacturer Part #: GLC-SX-MMD=	13812851	24	\$302.08	\$7,249.92
	Cisco	Catalyst 3850	)-24S-E S	witch Subtotal	\$21,773.23
	Meraki Cloud-Managed Access Points				
22	Cisco Meraki MR53 Wireless access point - 802.11ac Wave 2 - Wi-Fi - Dual Band Manufacturer Part #: MR53-HW	16965140	8	\$716.77	\$5,734.16
23	Cisco Meraki MR84 Cloud Managed Wireless access point - 802.11ac Wave 2 - Bluetooth, Wi-Fi - Dual Band Manufacturer Part #: MR84-HW	20127938	9	\$1,012.08	\$9,108.72
24	Cisco Meraki Enterprise Cloud Controller Subscription license (3 years) - 1 access point - hosted Manufacturer Part #: LIC-ENT-3YR	14451847	17	\$125.00	\$2,125.00
25	Meraki Dual-Band Omni Antenna (4/7 dBi Gain) Set Antenna - 4 dBi, 7 dBi - omni-directional (pack of 2) - for Cisco Meraki MR62, MR66, MR72 Cloud-Managed 802.11ac Outdoor AP Manufacturer Part #: MA-ANT-20	16327854	18	\$82.92	\$1,492.56
	Meraki Clo	oud-Managed	Access P	oints Subtotal	\$18,460.44

Fair Market Value		\$1 Bu	y Out
3 Year FMV / Year	5 Year FMV / Year	3 Year \$1 / Year	5 Year \$1 / Year
\$19,302.82	\$12,934.26	\$21,063.71	\$13,284.82

Lease prices listed above are estimates. They apply for Public School and Municipal Entities only. They are based upon individual credit review and approval. Your final rates will be determined after credit review.

Subtotal: \$58,316.81 Shipping: \$0.00 TOTAL: \$58,316.81

ITsavvy is always looking to deliver the lowest cost possible to our clients. This results in fluctuating prices that you will find are lower more often than not. However, prices are subject to increases without notice in the event of a manufacturer or distributor price increase. Available inventory is subject to change without notice. This document is a quotation only and is not an order or offer to sell.

We do accept credit cards for payment. However, if the credit card is provided after the order has been invoiced there will be a charge of 3% of the total purchase.

Unless specifically listed above, these prices do NOT include applicable taxes, insurance, shipping, delivery, setup fees, or any cables or cabling services or material.

All non-recurring services are 50% due upon signing of contract, 40% due upon delivery of equipment, balance due upon install.

ITsavvy's General Terms and Conditions of Sale, which can be found at www.ITsavvy.com/termsandconditions, shall apply to and are incorporated into all agreements with Client, including all Orders.

Printed Name:	Title:
Authorized Signature:	Date:



Sales Quote 2/25/19 Q56597 Sales Rep CRIENHARDT

## PC Solutions & Integration, Inc

4937 SW 75 Ave, Miami, FL 33155 Ph:305-667-0633 Fax:305-667-0618

City of Doral			

## **Quote Prepared For**

# **Hector Aguila**

### Ship To

City of Doral

Line#	Part Number Desc	ription	Qty	Unit Price	Extended Price
1		CITY OF DORAL - CISCO SWITCHING AND WIRELESS			
2					
3					
4		CISCO 3850 - 48 PORT SWITCH			
5	WS-C3850-12X48U-E	CISCO CATALYST 3850 48 PORT (12 MGIG+36 GIG) UPOE IPSERVICES	1	\$10100.00	\$10100.00
6	CON-SSSNP-WSC385UE	SOLN SUPP 24X7X4 CISCO CATALYST 3850 48 PORT (12 MGIG+36	1	\$2386.33	\$2386.33
7	C3850-DNA-A-48	C3850 DNA ADVANTAGE, 48-PORT TERM LICENSES	1	\$0.00	\$0.00
8	C3850-DNA-A-48-3Y	C3850 DNA ADVANTAGE, 48-PORT, 3 YEAR TERM LICENSE	1	\$1545.70	\$1545.70
9	STACK-T1-50CM	50CM TYPE 1 STACKING CABLE	1	\$41.00	\$41.00
10	CAB-SPWR-30CM	CATALYST STACK POWER CABLE 30 CM	1	\$38.95	\$38.95
11	C3850-NM-2-10G	CISCO CATALYST 3850 2 X 10GE NETWORK MODULE	1	\$1045.50	\$1045.50
12	PWR-C1-1100WAC	1100W AC CONFIG 1 POWER SUPPLY	1	\$0.00	\$0.00
13	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	2	\$0.00	\$0.00
14	S3850UK9-166	UNIVERSAL	1	\$0.00	\$0.00
15	PWR-C1-1100WAC/2	1100W AC CONFIG 1 SECONDARY POWER SUPPLY	1	\$779.00	\$779.00
16					
17		CISCO 3850 24 PORT SWITCH			
18	WS-C3850-24S-E	CISCO CATALYST 3850 24 PORT GE SFP IP SERVICES	1	\$10323.80	\$10323.80
19	CON-SSSNP-WSC3852E	SOLN SUPP 24X7X4 CISCO CATALYST 385 24 PORT GE SFP IP SERVIC	1	\$2434.19	\$2434.19
20	C3850-DNA-A-24	C3850 DNA ADVANTAGE, 24-PORT TERM LICENSES	1	\$0.00	\$0.00
21	C3850-DNA-A-24-3Y	C3850 DNA ADVANTAGE, 24-PORT, 3 YEAR TERM LICENSE	1	\$824.10	\$824.10
22	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	2	\$0.00	\$0.00
23	PWR-C1-350WAC	350W AC CONFIG 1 POWER SUPPLY	1	\$0.00	\$0.00
24	STACK-T1-50CM	50CM TYPE 1 STACKING CABLE	1	\$41.00	\$41.00
25	CAB-SPWR-30CM	CATALYST STACK POWER CABLE 30 CM	1	\$38.95	\$38.95
26	S3850UK9-166	UNIVERSAL	1	\$0.00	\$0.00
27	PWR-C1-1100WAC/2	1100W AC CONFIG 1 SECONDARY POWER SUPPLY	1	\$779.00	\$779.00
28					
29		CISCO MERAKI			
30	MR53-HW	MERAKI MR53 CLOUD MANAGED AP	8	\$696.59	\$5572.72
31	MR84-HW	MERAKI MR84 CLOUD MANAGED AP	9	\$983.59	\$8852.31
32	LIC-ENT-3YR	MERAKI MR ENTERPRISE LICENSE, 3YR	17	\$123.00	\$2091.00
33	SFP-10G-SR=	10GBASE-SR SFP MODULE	2	\$407.95	\$815.90
34	SFP-10G-SR=	10GBASE-SR SFP MODULE	24	\$407.95	\$9790.80



4937 SW 75 Ave, Miami, FL 33155 Ph:305-667-0633 Fax:305-667-0618
Customer
City of Doral

Sales Quote			
<b>Q56597</b> 2/25/19			
Sales Rep			
CRIENHARDT			

Quote	Prepared	For
-------	----------	-----

Hector Agi	uila		
Ship To			
City of Doral			

Line#	Part Number	Descript	ion		Qty	Unit Price	Extended Price
37		CISCO -	CISCO STATE OF FLORIDA CON	TRACT NASPO;NVP			
			(14-19) PARTICIPATING ADDEND				
			00-WSCA-14-ACS CONTRACT ST	ART DATE: 9/17/2014			
		CONTRA	ACT END DATE: 5/31/2019				
20							
38							
39		QUOTE I	PREPARED BY:				
		CHRIS R	IENHARDT				
		786-408-	2635				
		CRIENHA	ARDT@PCSUSA.NET				
40							
41		GROUNI	SHIPPING IS NO CHARGE.				
	SubTotal		Tax	Ground Shipp	ina		Total
	\$62,420.25		\$0.00	\$0.00	9	9	662,420.25

Terms & Conditions

ANY PRICING INFORMATION INCLUDED HEREIN IS FOR QUOTATION PURPOSES ONLY AND ALL PRODUCTS ARE SUBJECT TO AVAILABILITY FROM THE MANUFACTURER.

\*\*\*REBATES AND SPECIAL PRICING ARE NOT VALID ON BACK ORDERS IF PROMOTION EXPIRES BEFORE PRODUCT IS AVAILABLE.\*\*\*

Terms & Conditions

It is understood that PC Solutions & Integration, Inc. will retain title to all items stated above until the total purchase price of this order is paid. Failure by customer to pay for this order in full under the terms shown on this document shall give PC Solutions & Integration, Inc. the right to repossess the items stated above, with or without notice, and without liability to customer. If payment is not recieved when due, customer agrees to pay interest at the rate of 1.5% per month. If collection becomes necessary on this purchase, then customer agrees to pay all costs of collections, including but not limited to, reasonable attorney's fees and court costs.

Customer further agrees that any and all legal matters related to this order are governed by the laws of the State of Florida, County of Miami-Dade. No warranty is made by PC Solutions & Integration, Inc. for any of the items stated above, and there is no warranty of merchantability or fitness for any particular purpose. PC Solutions & Integration, Inc. is not liable/nor responsible under any circumstances for data.

Quote price may change without notice.

# **QUOTE CONFIRMATION**



### **DEAR HECTOR AGUILA,**

Thank you for considering CDW•G for your computing needs. The details of your quote are below. Click here to convert your quote to an order.

QUOTE #	QUOTE DATE	QUOTE REFERENCE	CUSTOMER #	GRAND TOTAL
KLHN060	2/22/2019	CISCO	9082236	\$69,098.18

#### **IMPORTANT - PLEASE READ**

**Special Instructions:** TAX:MULTIPLE TAX JURISDICTIONS APPLY TAX: CONTACT CDW FOR TAX DETAILS

QUOTE DETAILS				
ITEM	QTY	CDW#	UNIT PRICE	EXT. PRICE
Cisco Catalyst 3850-12X48U-E - switch - 48 ports - managed - rack-mountable  Mfg. Part#: WS-C3850-12X48U-E  UNSPSC: 43222612  TAX: DORAL, FL .0000% \$.00  Contract: MARKET	1	3770854	\$12,977.91	\$12,977.91
Cisco - expansion module - 2 ports  Mfg. Part#: C3850-NM-2-10G  UNSPSC: 43201404  TAX: DORAL, FL .0000% \$.00  Contract: MARKET	1	2960163	\$1,350.00	\$1,350.00
Cisco Config 1 Secondary Power Supply - power supply - hot-plug / redundant  Mfg. Part#: PWR-C1-1100WAC/2  UNSPSC: 39121004  TAX: DORAL, FL .0000% \$.00  Contract: MARKET	1	2944946	\$1,000.00	\$1,000.00
Cisco Catalyst 3850-24S-E - switch - 24 ports - managed - rack-mountable  Mfg. Part#: WS-C3850-24S-E  UNSPSC: 43222612  TAX: DORAL, FL .0000% \$.00  Contract: MARKET	1	3376037	\$11,741.27	\$11,741.27
Cisco - SFP+ transceiver module - 10 GigE  Mfg. Part#: SFP-10G-SR=  UNSPSC: 43201553  TAX: DORAL, FL .0000% \$.00  Contract: MARKET	2	1658993	\$500.00	\$1,000.00
Cisco - SFP (mini-GBIC) transceiver module - GigE  Mfg. Part#: GLC-SX-MMD=  UNSPSC: 43201553  TAX: DORAL, FL .0000% \$.00  Contract: MARKET	24	2542673	\$250.00	\$6,000.00

QUOTE DETAILS (CONT.)				
Cisco Meraki MR53 - wireless access point Mfg. Part#: MR53-HW UNSPSC: 43223108 TAX: DORAL, FL .0000% \$.00 Contract: MARKET	8	4144659	\$888.00	\$7,104.00
Cisco Meraki MR84 Cloud Managed - wireless access point Mfg. Part#: MR84-HW UNSPSC: 43223108 TAX: DORAL, FL .0000% \$.00 Contract: MARKET	9	4298871	\$1,200.00	\$10,800.00
Cisco Meraki Enterprise Cloud Controller - subscription license (3 years) - Mfg. Part#: LIC-ENT-3YR UNSPSC: 43232901 Electronic distribution - NO MEDIA TAX: DORAL, FL .0000% \$.00 Contract: MARKET	17	3342939	\$150.00	\$2,550.00
Cisco Config 1 Secondary Power Supply - power supply - hot-plug / redundant  Mfg. Part#: PWR-C1-350WAC/2  UNSPSC: 39121004  TAX: DORAL, FL .0000% \$.00  Contract: MARKET	1	2960162	\$325.00	\$325.00
CIS DIR 3YR SNET SOLN 24X7X4 Mfg. Part#: CON-SSSNP-WSC385UE Electronic distribution - NO MEDIA TAX: DORAL, FL .0000% \$.00 Contract: MARKET	1	5469722	\$7,050.00	\$7,050.00
Cisco SMARTnet Solution Support - extended service agreement  Mfg. Part#: CON-SSSNP-WSC3852E  UNSPSC: 81111811  Electronic distribution - NO MEDIA  TAX: DORAL, FL .0000% \$.00  Contract: MARKET	1	5291026	\$7,200.00	\$7,200.00

PURCHASER BILLING INFO	SUBTOTAL	\$69,098.18	
Billing Address:	SHIPPING	\$0.00	
CITY OF DORAL FINANCE DEPARTMENT	SALES TAX	\$0.00	
8401 NW 53RD TERRACE DORAL, FL 33166 <b>Phone:</b> (305) 593-6725	GRAND TOTAL	\$69,098.18	
Payment Terms: Net 30 Days-Govt State/Local			
DELIVER TO	Please remit payments to:		
Shipping Address: CITY OF DORAL INFORMATION TECHNOLOGY 8401 NW 53RD TERRACE DORAL, FL 33166-7710 Shipping Method: DROP SHIP-GROUND	CDW Government 75 Remittance Drive Suite 1515 Chicago, IL 60675-1515		

Need Assistance? CDW•G SALES CONTACT INFORMATION						
	John Vrablik	I	(877) 466-6333	I	johnvra@cdwg.com	

This quote is subject to CDW's Terms and Conditions of Sales and Service Projects at <a href="http://www.cdwg.com/content/terms-conditions/product-sales.aspx">http://www.cdwg.com/content/terms-conditions/product-sales.aspx</a>
For more information, contact a CDW account manager



**AAAQ43282** 

motter

Wednesday, February 20, 2019

Fax:

**United Data Technologies** 

8825 NW 21 Terrace Doral, Florida 33172

Tel: (305) 882-0435 Fax: (305) 882-0436

www.udtonline.com

Tel: 305-882-0435

Ship To: City of Doral Hector Aguila

**Quotation No** 

Date:

**Quoted by** 

**Quote For:** 

City of Doral Hector Aguila

Tel: (305) 593-6725

hector.aguila@cityofdor Terms:

**Quotation No:** AAAQ43282 for Hector Aguila hector.aguila@cityofdoral.com

Fax:

Line	Qty.	Part Number	Description	Price	Extended Price
1	1	WS-C3850-12X48U-E	Cisco Catalyst 3850 48 Port (12 mGig+36 Gig) UPoE IPServices	\$15,304.70	\$15,304.70
2	1	CON-SSSNP-WSC385UE	SOLN SUPP 24X7X4 Cisco Catalyst 3850 48 Port (12 mGig+36) 36 Months	\$7,801.47	\$7,801.47
3	1	C3850-NM-2-10G	Cisco Catalyst 3850 2 x 10GE Network Module	\$1,581.00	\$1,581.00
4	1	STACK-T1-50CM	50CM Type 1 Stacking Cable	\$62.00	\$62.00
5	1	CAB-SPWR-30CM	Catalyst Stack Power Cable 30 CM	\$58.90	\$58.90
6	1	C3850-DNA-A-48-3Y	C3850 DNA Advantage, 48-port, 3 Year Term license	\$2,337.40	\$2,337.40
7					
8	1	WS-C3850-24S-E	Cisco Catalyst 3850 24 Port GE SFP IP Services	\$15,611.61	\$15,611.61
9	1	CON-SSSNP-WSC3852E	SOLN SUPP 24X7X4 Cisco Catalyst 385 24 Port GE SFP IP Service 36 Months	\$7,957.94	\$7,957.94
10	1	STACK-T1-50CM	50CM Type 1 Stacking Cable	\$62.00	\$62.00
11	1	CAB-SPWR-30CM	Catalyst Stack Power Cable 30 CM	\$58.90	\$58.90
12	1	C3850-DNA-A-24-3Y	C3850 DNA Advantage, 24-port, 3 Year Term license	\$1,246.20	\$1,246.20
13		•	· · · · · · · · · · · · · · · · · · ·	-	

02/20/19 Page 1

**Quotation No:** AAAQ43282 for Hector Aguila hector.aguila@cityofdoral.com

Line	Qty.	Part Number	Description	Price	Extended Price	
14	8	MR53E-HW	Meraki MR53E Cloud Managed Indoor AP with External Antennas	\$1,053.38	\$8,427.04	
15	9	MR84-HW	Meraki MR84 Cloud Managed AP	\$1,487.38	\$13,386.42	
16	17	LIC-ENT-3YR	Meraki MR Enterprise License, 3YR	\$186.00	\$3,162.00	
17	2	SFP-10G-SR-S=	10GBASE-SR SFP Module, Enterprise-Class	\$434.00	\$868.00	
18	24	GLC-SX-MMD=	1000BASE-SX SFP transceiver module, MMF, 850nm, DOM	\$250.00	\$6,000.00	
19	19 FL #43220000-WSCA-14-ACS					

 Sub Total
 \$83,925.58

 Sales Tax
 \$0.00

 Shipping
 \$0.00

 Total
 \$83,925.58

Ask your UDT representative how you can save thousands using Managed Services

Accepted by:	Date:	
Please write bill to and ship to addresses below if different from quotation.	Order Number:	

02/20/19 Page 2

## GSA Schedule 70 Contract # GS-35F-0563U Line Card

expires 09/04/2023

## **Westcon-Comstor Americas**

**GSA@SYNNEX.com** 

800-456-4822 x494403

https://www.synnexcorp.com/us/govsolv/

Westcon-Comstor Americas, a Division of SYNNEX Corporation, offers the below vendors on GSA Schedule 70 Contract # GS-35F-0563U.

Avizia Cisco Radware